
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

 

 

 

Chocolate 
 
 
 
 
 

Look at the squares of chocolate. 

Tick the sum that matches the picture. 
5 + 2 + 9 = 16 

5 + 6 + 5 = 16 

6 + 6 + 4 = 16 

6 + 2 + 8 = 16 

8 + 3 + 5 = 16 
 
 

From Year 2 2006 Pitch and expectation document (revised 2009) 

 

 

Number square 
 
 
 

 

 

 

Find ways of rearranging the digits so that the 

sum of each row, column and diagonal is the 

same.  Now try with different digits: for 

examples, 4, 5, 6. 
From 1999 Framework: Year 1, 2 and 3 

 
 
 


